MTS HOTAS
JOYSTICK / THROTTLE

Instruction Manual
Bedienungsanleitung

Mode d‘emploi



PARTS [dimensions in mm / different scales]

No extra or spare parts listed!

1x

Mounting plate for
joystick or throttle
as ordered.

threads

usually pre-assembled on
the 70 mm profile above

MTSIM MTS HOTAS INSTRUCTION MANUAL 2



MTSIM MTS HOTAS INSTRUCTION MANUAL



MTS HOTAS Swivel Extra Plate Kit

right side

One bracket for
left OR right side
as ordered.

1x

1x

2%

2%

MTSIM MTS HOTAS INSTRUCTION MANUAL



ASSEMBLY

threads at

loosely

pre-assembled

universal
connector

cap with
open slots
(usually pre-assembled)

5

MTSIM MTS HOTAS INSTRUCTION MANUAL



pre-assembled

universal
connector

choose position
(height positioning)

then tighten the screws

Extension for
better tightening

power.

6

MTSIM MTS HOTAS INSTRUCTION MANUAL



2x
slot nut
suitable for the moun-
ting plate you ordered
(e.g. M6 or M8]

<
S

e.g.
2X
M8x16
flat head
(depends on the mounting
plate you ordered)

@

Mounting plate for
joystick or throttle
as ordered.

MTSIM MTS HOTAS INSTRUCTION MANUAL 7



Screw on
loosely at
first!

2X
washer @16

2%
M8x14

Attention! )

There is a left and @

right side version of '@
this bracket!

The opening should

face towards the
seat.

MTSIM MTS HOTAS INSTRUCTION MANUAL 8



detailed view

Groove in
the direction
of the balls.

axial
ball
bearing
O O
O
O@Q

O
O

9

MTSIM MTS HOTAS INSTRUCTION MANUAL



Assembly for the
right side of the rig.

=)
<~
<
. O
o
L=
=
Z°
(&)
£ o
50
o L
&=
<9

loose fit

10

MTSIM MTS HOTAS INSTRUCTION MANUAL



o=

A

& W
@‘Vﬁ?%y//

7
>

pre-assembled

universal
connector

distance
adjustment

e

3x M8x18

assembly for the

left side of the rig

3x washer @124 @

1

MTSIM MTS HOTAS INSTRUCTION MANUAL



t
iy
o
0
o
iS)

double slot nut

12

MTSIM MTS HOTAS INSTRUCTION MANUAL



assembly for the
right side of the rig

assembly for the
left side of the rig

4x slot nut M8
on the side of the rig where
you want to assemble

(shown here on the left side)

MTSIM MTS HOTAS INSTRUCTION MANUAL 13



|\

)
T : = ‘!‘_
G
\
¢ (@@

7
—=

\I! _

q«\‘ﬁ i

adjustmen
< ctance
= =

MTSIM MTS HOTAS INSTRUCTION MANUAL 14

\




MTSIM MTS HOTAS INSTRUCTION MANUAL 15



fl:
&
B
hl o
g
o
tighten knob first
and then lever —
®
U U
&

Slide down until it touches
the profile. Then tighten the
green marked screws.

MTSIM MTS HOTAS INSTRUCTION MANUAL 16



Tighten
set screw
and knob.

DY

MTSIM MTS HOTAS INSTRUCTION MANUAL



Lo
N
o
o~
1
2]
o
|
~O
—

|
— 1\\\/ / : ==

\

\\

- e

\ — e 5

, 0 .2 =
\ I
| :

| =55
T\ -
, Spa
o P/& Al 1
‘4. \ 317
[ : \ | |
\.‘ /) | ,, \ | m ;
\\ ] . y 0 a
) : n W :
\\\ 3 S

O

| o

o~
-

X m <

[
o © €
n O m
ot

/i h hOJ

222

/i t

B " VAR

o—




